)

OBC

Oskoyi Ballbearing Company

(oo Sult] i o

(J2u9l Casio

)

4-SiX | W
—
= b
<C N = 1 [ I

+ Il ‘ Il

] < Iy

Lo

| |

 © |
B | I |

I

L]

! ‘ !

[

]

4-S; |

\
USSS | Liner Bearing 2 OB canms | h | D |W| H |G| Al| o |cE Sixl 2 | s

Dynamic N | Static N gf JUs glogy

SC8SUU LM8UU 260 400 | 36 78 11| 17 [ 3a] 22 [ 18| 6 | 24 | 5 | Max8 | @34 | 154
SC10SUU | LM10UU 370 540 | 63 @10 |13 | 20 | 40| 26 |21 | 8 | 28 | 6 | Mox12 | @43 | 195
SC125UU | LM120U 410 590 | 74 @12 |15 | 21 | 42| 28 | 24 | 8 |305|575| Msx12 | @43 | 205
SC13SUU | LM13UU 500 770 | 85 @13 |15 | 22 | 44| 30 |245| 8 | 33 |55 | Msx12 | @43 | 205
SC16SUU | LM16UU 770 1170 | 132 | @16 |19 | 25 | 50 [ 385 (325| 9 | 36 | 7 | Msx12 | @43 | 235
SC20SUU | LM20UU 860 1370 | 170 | @20 |21 | 27 |54 | 41 |35 | 11 | 40 | 7 | Mmex12 | @52 | 27.4
SC25SUU | LM25UU 980 1560 | 405 | @25 | 26 | 38 | 76 | 515 | 42 | 12 | 54 | 11 | msxi8 | @7 | 374
SC30SUU | LM30UU 1560 2740 | 495 | @30 |30 | 39 | 78 [59.5 | 49 | 15 | 58 | 10 | Msx18 | @7 | 409
SC35SUU | LM35UU 1660 3130 | 790 | @35 |34 | 45 [ 90| 68 | 54 | 18 | 70 | 10 | M8x18 | @7 | 45.4
SC40SUU | LM40UU 2150 4010 | 1220 | @40 |40 | 51 |102| 78 | 62 | 20 | 80 | 11 | Mi0x25 | @8.7 | 56.4
SC50SUU | LM50UU 3820 7930 | 2300 | @50 |52 | 61 |122] 102 | 80 | 25 | 100 | 11 | M10x25 | @8.7 | 68.9

D site : www.10BC.com

R4 Email : Borhan772000@yahoo.com

(021) 33913364 - 33951660 : wali &)
(021) 33985603

s unSS P




	Page 95

